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Mention two factors affecting economic
growth,
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Who propounded the ‘theory of circular
Causation’?
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«A country is poor because it is poor.”
The statement was given by
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J. B. Say
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Malthus
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Life expectancy, adult teracy rase
and real GDP DEr capita
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Life expectancy, percentage of
literacy and per capita income
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Define the concept of balanced growth, Role  of plannip, N,
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Which of the following is not a necessary Environmental  degragay -
characterisic of an underdeveloped economic developmen; ‘ and
couniry?
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Low per capita income secondary sector Y and
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Chronic unemployment
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Explain the basic characteristics of "
developing ~ country with  suitapje
examples from Indian economy.
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Define economic development. Analyge
the obstacles to economic development,
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Explain the classical model of economic
development.

11

%91/ Or

T2 ORORT QAT [RFPR TIP3
01

Describe the stages of economic growth
as put forward by Rostow.
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Explain the role of
economic development g
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What is tertiary sector? Discuss the
contribution of tertiary

sector in
economic development of a country.
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Explain the role of State in economie

development of developing countrieg
with special reference to—

(i) capital formation;

(ii) removal of poverty and income
inequality;

(iii) reduction of regional disparities.
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Evaluate the role of planning in market
economy.

* ok

\
14P—4000/1177 6 SEM TDC ECO G 1

Scanned by CamScanner



